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p 1,473,065
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Al 6,240
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Al 11,462
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el

Ofl &k 24
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L= pal

Y
Al

25,641
25,641

307 glztold

v
Al

51,282

25,641
25,641

57,356

26,074

01 S =H 2

O SAESUAOIA HAF & EHOHKIR (2, 1432

51,282,000& = 14!

Il
Al

51,282
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25,641
25,641

57,356
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= HH
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142,707
71,352
88,851
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142,707
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01 A== =HI
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Al XI®(12521)
169,303,000 * 14/

AlH| X2 (22824)
116,107,000& = 14!
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200,000& * 50
X2 Azl N (E3RASIIE O

1,500,0008 = 13| * 5%

= HHW

= H W
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169,303

84,655
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116,107
58,052
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89,925

212,985

= H W
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138,928
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159,725
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= H W

173,660
138,928
17,366
17,366

159,725
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- _ — PoRE |
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201 YLEr23H| 33,600 33,000 600
01 AtSZeltl 33,600 33,000 600
O erag| 33,600
o MO EHY EIE RIF
800& = 2,5000H 2,000
o AlMOF B F5HEE 1Y
12,0002 * 2,5000H 30,000
o ZIUEHAY et E2= ME
1,000& * 1,0000H 1,000
o MFY 2R +RA £X 88 7Y
00,000& » 20HA * 18] 600
307 21201 69,400 76,000 26,600
01 o =H 724 69,400 76,000 26,600
O ots R 5,000& * 2,500 12,500
O gx0t 2N 5,000& * 2,500 12,500
O &g =J| ZAEI(I1E0H ZA)
20,000& = 2,000 40,000
O EBs qE3H 2 7,000& * 2004 1,400
O Y - 20U AE 15,000& * 200K 3,000
401 A&HIZL S0 10,000 7,000 3,000
01 Al&| 10,000 7,000 3,000
O HFY 2R +R4 41 N
5,000,000& * 204 10,000
405 KHoHESHI 18,180 11,000 7,180
01 Tt = SF S 18,180 11,000 7,180
O %I 2L 2,000,000& * 6CH 12,000
O HEU 2R =24 =5 2L (0DIEH, =
S8 2t S) 3,000,000& » 2JH2 6,000
O |7 228 30,0002 = 6K 180
R0t A2Hd 10,210 12,117 21,907
Il 8,248
Al 1,962
201 LEr23H| 900 880 20
J| 720
Al 180
01 AtSZeltl 900 880 20
O gEt=2H| 900
o FARO0F LA EE= M
900& = 1,0000H 900
| 720
Al 180
301 LetEas 400 0 400
| 400
01 Al2IEEH 5= 400 0 400




A SHAIE W
B AYZT
o LAEA (EERE
SN BB SR(EA) - MBAY - BAS e mE=ET
SEEEIENEEREE
400,000 » 1 400
J| 400
403 XXISHHS A= 8,910 11,237 N2,327
| 7,128
Al 1,782
02 BJ12s0is At Bl 8,910 11,237 A2,327
O YRO0F ABAT(SUEH IR ABZ0 +2
A+ 2974) 8,910,000& * 14 8,910
| 7,128
Al 1,782
UM ARt E5Y 2l 128,182 104,470 23,712
| 64,091
Al 64,091
101 Ql24d| 39,000 36,000 3,000
| 19,500
Al 19,500
04 JIZtM22XHSE 39,000 36,000 3,000
O SAZALIAISE DAL 39,000
o Q24| 46,130& * 28 = 230 21,220
J| 10,610
Al 10,610
o Fi=g 46,1302 * 2H * 46 4,244
J| 2,122
Al 2,122
o ANRER(2VAZ, ALY - DB - &TH)
2,536,000 * 14 2,536
| 1,268
Al 1,268
o g3 1,750,000& » 2H 3,500
| 1,750
Al 1,750
o =& 0dl 20,0008 = 2% » 10 * 12& 4,800
| 2,400
Al 2,400
o Ws oyl 75,0002 * 298 » 32 * 63l 2,700
| 1,350
Al 1,350
201 2pt2 3] 4,920 4,580 340
| 2,460
Al 2,460
01 AtR2teltl 4,920 4,580 340
O it==ZH| 3,620
o JAEEANY EEZ2=S HMH
1,000& = 1,0000H 1,000
| 500
Al 500
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HE: AUEZ
Eelr XA (Etl EE)
SA B BR(S) - NRAY - BES Of &r e HIDE
S SATEAIY AN LA 7Y
2,000 = 6855 1,370
7l 685
Al 685
o YYBEANY S2RE PY
2,500& = 500 1,250
7l 625
Al 625
O {5 W= 1,000
o YUYBEAIY ST DSY)
1,000,000& = 14 1,000
| 500
Al 500
O 2g8+¢ 300
o WFEHAE 100,000& = 32/ 300
Jl 150
Al 150
202 044l 780 1,890 A1,110
Il 390
Al 390
01 =WHHI 780 1,890 A1,110
O ESI A FE NI
20,0002 * 128 + 22 * 122 480
J| 240
Al 240
O gAel 0s 2 30 &4
75,0008 * 198 = 2& = 23] 300
7l 150
Al 150
301 eet2a=s 1,200 600 600
7l 600
Al 600
10 AIAMHIE2 A= 1,200 600 600
O YYNS FAHT 2AH P
100,000& * 122 1,200
Jl 600
Al 600
307 212told 82,282 61,400 20,882
Jl 41,141
Al 41,141
01 227 =H] 82,282 61,400 20,882
O 2343 78 58,9002 * 1158 * 12& 81,282
Jl 40,641
Al 40,641
O BAFAISf 2,500 = 400 1,000
Jl 500
Al 500
gAaF Ots AZ2c| 40,386 44,300 A3,914




A BAHAMED
HE: AYS
@ BXEA (e &2
- _ — Pl
SN FH - S(EA) - MRAY - BES 03] &k o8 St BlRE2
| 20,193
Al 20,193
307 21201 35,854 39,402 A3,548
| 17,927
Al 17,927
01 g 2¥F=Hl 35,854 39,402 A3,548
O Z=2H(862Y) 35,854,000& * 14 35,854
| 17,927
Al 17,927
403 XXIHHMSA=01H 4,532 4,898 A 366
| 2,266
Al 2,266
02 S| 2SO0ICHECHEE At I 4,532 4,898 A366
O SRIALE HTHIE KIS(2,179%)
4,532,000& » 14 4,532
| 2,266
Al 2,266
JIBIIHE H2Sa 13,310 13,830 A520
| 6,655
Al 6,655
201 Zet23d] 8,300 9,980 A 1,680
Il 4,150
Al 4,150
01 AtR2elt| 7,320 9,000 A 1,680
O YEt=2H| 3,720
o DRBAAAOHY AT 7Y
1,000& * 1,00004 1,000
Il 500
Al 500
o s N (SLE) 200,000& * 14 200
Il 100
Al 100
o #A E2EE S 7Y
7,000& = 30 * 123l 2,520
Il 1,260
Al 1,260
O 28+ 3,600
o YRAALDA SAZ
150,000& * 22 = 123 3,600
| 1,800
Al 1,800
03 A2 980 980 0
O BR =R 2 L LU & &At 980
o =0 M 60,000 = 2K 120
Il 60
Al 60
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Jl 330
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o WAKIE ZAI=R 100,000 * 2 200
Jl 100
Al 100
202 OH| 1,500 1,500 0
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Al 750
01 =UHAHI 1,500 1,500 0
O SXEAAIY BIIHE L 50| &4
75,0008 * 2& » 2 x 23 600
Jl 300
Al 300
O JtYI| GEABBEDE &
75,0008 * 38 * 2 x 23 900
Il 450
Al 450
301 LetE N3 3,510 2,350 1,160
Jl 1,755
Al 1,755
10 HAIMHIE2 4= 3,510 2,350 1,160
O DNSATZ Y FAX} 2HAH|
2,000& » 308 * 523 3,120
Jl 1,560
Al 1,560
O 2ete AYDA HES 7Y
10,0003 = 39 390
Il 195
Al 195
AldOoF =y X0 M 75,000 0 75,000
Il 2,949
Al 72,051
307 212told 75,000 0 75,000
Jl 2,949
Al 72,051
01 2= 75,000 0 75,000
O dldot 32 842 H AL 30,0008  2,5008 75,000
Il 2,949
Al 72,051
ey s42 HF2e 1,026,797 807,607 219,190
Il 491,534
= 8,648
T 147,563
Al 379,062
ColiY Ae 12,354 13,552 1,198
= 8,648
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Jl 135,210
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307 212told 270,420 207,120 63,300
| 135,210
Al 135,210
01 S+ =H] 270,420 207,120 63,300
O Lol X £&(1338)
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o EQHX|(RX) 17,000& » 128 204
o DZES MI=XAE =38z 42 P
o 500,008 * 1292 6,000
O srgmza 4,270
o SRR oE
2,000& * 1208 » 12& 2,880
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o XSS A
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Al 1,440
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= 1,700
Al 1,200
01 ArZ2tcIHl 2,900 2,900 0
O {5 1u=H| 2,900
o XY 2RV ASTA L My
W 1,200,000 = 2& 2,400
= 1,200
Al 1,200
o MEdac 4N HruslE UssH
500,000& » 1H 500
= 500
202 OdH| 480 480 0
2 240
Al 240
01 =UHAHI 480 480 0
O daE8g 421 W= 0idl  240,0002 + 2 480
= 240
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d=H o2 2,640 2,640 0
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Al 924




SN 2AMS L
Mz Mogpel
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307 21201 ™ 2,640 2,640 0
Il 1,320
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02 QitFeE X 2,640 2,640 0
O d=Hd NIZA 2Az)|2 23]
660,000 * 42 2,640
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= 39
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o &N BB ZANE S+=2d
38,0002 = 20K 760
o HIECIQIES HgsS &4 7Y
4,0008 * 80 = 43 1,280
o JIdE(2, EF) A 2=
1,200& = 1,000& 1,200
o 249 883 0d HEHAl € Hls 7Y 5,700
— SHERIA 4,000 = 1,000 = 12l 4,000
- H 5 1,700& = 1,0000H 1,700
o HAYUY E2E 4% KW
70,0002 * 1002 = 18] 700
o NBQIZRAT L 24D E2SE 7Y
4,500 = 4,5004 20,250
202 OH| 3,900 3,900 0
01 =UHAHI 3,900 3,900 0
O TS RLdAl 2XHA Q2(2H3 AT
2) 75,0002 * 2& = 102 1,500
O diXedets i +SH(2ASFARH)
75,0008 * 28 « 6& 900
O g=EItiHal ZA0
75,0008 * 28 x 4& 600
O 2258 dXxA 22
75,0008 = 18 = 23| « 62 900
307 212told 70,180 17,300 52,880
01 2= 70,180 17,300 52,880
O =58 Xl P (MASXAIE SAA 22
I}%) 7002 * 500& = 53] 1,750
O BZIIZAIS oigE JILM &
1,6503 = 3,000 4,950
O 8EAICS HBE JILMH &
1,6502 » 2,0008 3,300




SN 2AMS L
I dggad
ool SugEe ETRE
- _ - &4
SA - R(B) - MRAY - BES Ofl &t 24 St HIBE2
OWS=ZEEZ (s JIOM &
1,650 = 2,000 3,300
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01 NS SFSHI 610 0 610
O &4)| 228 BetA 29
610,000& * 1CH 610
FHX LS 506,956 506,986 230
101 12| 85,153 85,153 0
04 JIZtHZ2=NHSE=+ 85,153 85,153 0
08 8 5 ygdrsory
35,4808 * 162 * 53 * 270 76,637
O gHEA=s2x 2URY
35,4808 * 238 = 152 « 83 8,516
202 O4Hl 1,050 1,080 230
01 =WHHI 1,050 1,080 A30
O EAXNG gHAFI| =2l ¢
50,0002 * 38 * 73] 1,050
206 MH=H 409,753 409,753 0
01 Mz dl 409,753 409,753 0
O A &S Me=sl 409,753,000 * 14] 409,753
405 KrabH =4I 11,000 11,000 0
01 T ESF S 11,000 11,000 0
O HE8LAS FUHS 2S)) 2A(S - & - 5)
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OOl & &9 2 43,510 45,586 2,076
Jl 10,930
= 1,440
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oIolx & gE2el 30,310 32,286 A1,976
Jl 4,330
= 1,440
Al 24,540
201 Ler2 | 3,600 3,630 A30
01 AtR2teiH| 2,250 2,250 0
O &et+EH 2,250
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O AIDS G2l & A X2 1,350
o 82 Wsg 82 15 M
1,000& = 1,0000H 1,000
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202 OdH| 2,730 2,550 180
Jl 90
Al 2,640
01 =N 2,730 2,550 180
O Hivzgel Mg 8 0]
75,0003 * 1H 253 1,875
O AIDS, 88 &2 Sl & AL d2us
75,0008 * 33| * 3& 675
O HIvZgel EtXIS 2eltl
75,0003 * 18 * 2.43] 180
Jl 90
Al 90
307 2iz2told 23,980 26,106 A2,126
Jl 4,240
T 1,440
Al 18,300
01 2 =ZH 18,980 20,106 A1,126
O 48 Z2a 2 X=dl
24,5008 * 209 * 23| 980
Il 490
[ 490
O 88 dg Al 7Y 729.9¥ * 2,603A 1,900
Il 950
[ 950
O AIDS &I Alr 71 2,689.7& * 2,082 5,600
Il 2,800
Al 2,800
O &% 2AT 22 NEAS 7Y
25,0008 * 90Y ~* 23 4,500
O HIV Zgel(&Xt) I8z ol
75,0002 * 802 6,000
04 QIZHHALE X 5,000 6,000 A1,000
O OOIZEXIZS A XI&
5,000,000 * 13 5,000
ololx & 48 a4 A 13,200 13,300 A100
Jl 6,600
Al 6,600
307 2iz2told 13,200 13,300 A100
Jl 6,600
Al 6,600
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o EAMA 2 20,0008 * 20 400
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O ZHB2IANY 2K 24DS
75,0008 * 438 = 34 900
O SSZ2AHA 22| WS
75,0008 * 48 » 3 900
307 2iz2told 3,800 5,600 21,800
01 Sz A= 3,800 5,600 21,800
O ZABX} BX HRAE P
2503 * 40F » 302 ~ 123 3,600
O Zatlt 2ESF 7d 400& = 5000H 200
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= 20,871
[ 10,436
Al 10,886
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01 =LA 450 450 0
O gtagael g5t d2Us
75,0008 * 2 * 3& * 18] 450
301 LEt2 A3 41,743 36,183 5,560
= 20,871
[ 10,436
Al 10,436
01 A2 X 45l= 41,743 36,183 5,560
O SHHEXE 2022 AE 23|
35,800,000& * 14 35,800
= 17,900
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